EARAROBEEIERT — 2 N— IBISH —F

20194£3A3H (B) 1mEpR#4H

Kl >538 #5 el 68

EZS

& ‘ [RERSE] — | & (&) 1800M FBE

[A~&£] 17 6,000,000  ~ 23 :2,400,000 @ 3 7& :1,500,000

/47 1900,000 F 5 7& :600,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N o . F g . —4-6- KARBER
: 3| v Tie— KR —o 4 3 iy 1.(5_6).2 5-4-6-8 | 38.5| 83.3 | 11 (434) %E;.é;ﬁ (E®)
/G ZA N BIAVTN—T HBE77— L4
= s 3 | JIERE 1:56.5 9-9-8-6 |38.8| 80.8 | 9 456 | BEFIAR (5ER)
ol 7|1a| 7va7E-7 54.0 (1 3/4) (—) |HHET
L:A—Y XL A4 B:7ILIEHF— EoEszie)
S 4 3 | EBE 1:56.6 10-10-6-5 | 39.0 | 80.0 | 5 468 | FIETES (R®)
31| *T¥avog> 56.0 (1/2) (—) |BAFE
L:ZLh—9 BixA4>390aTY =ite)
. N . RGN : 44~ eiss (EX)
L=t TNO—4 3 s 175?:)7 7-4-4-2 | 39.5| 79.3 | 1 (538) BEEE
R:Z27)—-re—A—- B:FA5-/N—F> HBITr—L
RS 3 | FEE#R 1:56.9 2-3-2-1 [39.9|77.8| 6 468 | HHE— (FH)
AATI v FaT 56.0 (1 1/4) (L) | W) SEATIHKY-EZR
A=K7 Yz—b Biky hFv—Fq E R
B — i 3 | Eo#EN 1:57.1 12-12-11-9 | 39.1 | 75.8 | 16 | 416 | =M (ER)
7 54.0 (1 1/4) (=) BEE=
LI IATA—h— B:Y—XHLy b FEFFHS
# 3 | BERAS 1:57.3 2-2-2-2 | 40.3| 74.7 | 7 504 | BifE (ER)
J—=FhHIFv— b 56.0 (1 1/4) (o) | ) HAEL-2FK-2
Vw24 BANTL)=JN—X HET7— A
N . . REEN : -13-13- BRE (FEX)
INRILYA Yy it 3 Al 1(/&\3;)3 13-13-13-10{ 39.0 | 74.1 | 12 (4i4) e
RiANT =G B FrlEF X Ty — L
; : 3 | HH 1:57.5 13-14-16-14| 38.4 | 72.3 | 15 | 524 |SHE— (EHN)
[=R=APEEDIZN 54.0 (1 1/4) (=) AT EksE
LNV vH—b B:d—-LFrTI74X HET77— L
. =0 3 | fEEZ 1:58. 15-15-14-12| 39.4 . 20 |BBE—% (FF)
VP e E 56.0 (53%0 o1 9.4\ 0831 8 (5_0) (#) /—ZRELX
Z:rA7% B:IN HRAEHE -2z
= 4 3 | EHEEH 1:58.5 7-8-5-6 | 41.0| 65.7 | 4 168 | BBE—H (ER)
11059 | AMFFRT 17 520 3 o | W 7%z
LIV AT7A—hH— By 71v>a INHINSH T 7—Ls
2 : 4t 3 | EHEHBE 1:58.8 11-11-11-11| 40.4 | 62.7 | 10 482 | RERBEK (ER)
1201127 e U= S =4 ¥¢55.0 (1 3/4) (=) Eﬂﬁﬁg?‘
R:RY—LYv—=— B:HFU—> RFM
= L3 43 | WHEE 2:01.0 16-15-14-15| 42.1 | 48.2 | 13 | 430 |ETEBSH (FR)
131816 7 T TA7L 37 %053.0 (514 o) |vEEs
RFAILANRTA— BFAILTUFaT 2T FHE
. 3 4 3 | EAIEX 2:02.0 5-7-8-12 | 43.7 | 44.0 | 3 472 | BE (FEH)
14{8 15| FEY T XTI X b 54.0 © o | &) xEEs
R:xA1ZGr7—R B:¥&H>TI2Tl— L i&
S = s 3 | dtRER— 2:02.2 1-1-1-4 | 45.2| 45.4 | 2 494 | HAKEE (RR)
EH 4 P % 3 '7777 56.0 (11/2) (=) &WEK
LR—HNE B A AL~ e
2 i 3 | BRE 2:04.2 4-4-8-16 |45.7 | 33.6 | 14 | 422 |HFAEZE (F®N)
16l 13| S AL T 54.0 (51%) ) |EREF
LTG5 TYRZX BiL14FYyy R =is =L
@ 71 L
) 52.3-39.2
NEA> &AL | 13.0-11.3-13.3-13.2-13.1-13.1-12.7-13.1-13.4
® I —F—@EBIERL
1T=7r= (x4,5,11)13(3,15) (9,12)14,1,2-7-(8,10)-6,16
2= = (x4,5)-11(3,13,12)15,9,14-1,2-7,10=8 (6, 16)
Gol=5r= (¥4,5,11)12,9(3,1) (13,15,14) (7,2)-10(6,16) 8
40—+ — (5,%11,12)4,1(9,14)-3,7-10,2(6,15)-8,16,13
[ N3
H OB 3 4,950 714K 3-14 8,880 e E 2-7 3,140H JEHE 1-3-14 87,060
BB 3 1,340 =8 4,840 B = 3-14 30,410M 3EE 3-14-1 684,810M
14 580 1-14 3,110M| | B H 3-14 73,180
1 360M

ABICOVWTRDTEEERROODE. TR LIV,




